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Struct spars{ = > = -

int row;
int col;

int term;
L ool e sile sl e olaws @[0].row X

( sk s ple o i olagl slass Maxterm *

gf)'-g-" w;b ‘sh o,.:...o slass :a[O].COl *

< ook s sile yho i yolic slaas :a[0].term */,

spars ajmaxterm+1];
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spars term;

int row;
int col;
int term;
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Row | Col [ Value
a[lo] | 6 6 7
a[1] | 1 1 1
al2] 1 5 1
a[3] | 2 S 1
a[4] 3 2 1
als] | 4 1 2
a[6] 5 4 3
a[7]1 | 6 6 1

Row | Col | Value
a[0] 6 6 7
a[1] 1 1 1
a[2] 5 1 1
a[3] 5 2 1
a[4] 2 3 |
a[5] 1 4 2
a[6] 4 > 3
a[7] | 6 6 1

Row | Col | Value
a[0] 6 6 7
al1] 1 1 1
a[2] 1 4 2
a[3] 2 3 1
a(4] 4 5 3
a[5] 5 1 1
a[6] 5 2 1
a[7] | 6 5 1
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Amin ™ Brik = Cmak liom yle 99 @ 36 13 95!
For i=1 to m do

For j=1 to k do

Begin

c|i,j]=0

For L=1 to n do

c[i,j]=cli,j]+A[i,L]*B[L,j];

end; M*N*K :euis plil bbb Slass

m*(N-1)*Kk :0uls plxil gbd ze> Slaxs
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(AB)C=(AB)s, * Cs.,= (3*10%5) + (3*5*4) = 210

A(BC)=As,10 * (BC)1g.4= (3*10%4) + (10*5*4)=320
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AB=[13*5] * [5*89]
B'C=E  AE=[13*5]*[5*3]

BC=[5*89]*[89*3] | -

CD=[89*3]*[3*34

- ) (A(BO)D

ED=[5*3]*[3*34]

(5*89*3) + (13*5*3) + (13*3*34)=2856



